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Perfformiad yr holl ymgeiswyr ar draws y cwestiynau

Teitl y cwestiwn N Sgôr gymedrig GS Marc uchaf Ff H Cynnig %
1 5994 14.4 3.7 25 57.5 100
2 5994 14.4 3.8 25 57.5 100

3a 5957 3.7 1.4 7 53.2 99.4
3b 5835 3.3 1.5 8 41.2 97.3
3c 5836 5.3 2 10 52.6 97
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Sticky Note
Rhif y cwestiwn fel arfer

Sticky Note
Nifer yr ymgeiswyr sy’n ceisio ateb y cwestiwn


Sticky Note
Cyfrifir y sgôr gymedrig trwy adio sgorau'r ymgeiswyr unigol a'u rhannu â chyfanswm nifer yr ymgeiswyr. Os bydd yr ymgeiswyr i gyd yn cyflawni'n dda ar eitem arbennig, bydd y sgôr gymedrig yn agos at yr uchafswm marciau. I'r gwrthwyneb, os bydd ymgeiswyr yn gyffredinol yn cyflawni'n wael ar yr eitem bydd gwahaniaeth mawr rhwng y sgôr gymedrig a'r uchafswm marciau. Bydd cymharu'r marciau cymedrig yn syml yn dwyn sylw at yr eitemau hynny sy'n cyfrannu'n arwyddocaol at berfformiad cyffredinol yr ymgeiswyr. Fodd bynnag, gan nad oes i bob eitem yr un uchafswm marciau, arwydd rhannol yn unig o berfformiad ymgeiswyr a geir trwy gymharu'r cymedrau. Nid yw cael cymedrau cyfartal o anghenraid yn golygu perfformiad cyfartal. Os oes gan gwestiynau uchafswm marciau gwahanol, dylid defnyddio'r ffactor hygyrchedd i gymharu perfformiad.


Sticky Note
Mae'r gwyriad safonol yn mesur gwasgariad y data o gwmpas y sgôr gymedrig. Po fwyaf yw'r gwyriad safonol, mwyaf gwasgaredig (neu lai cyson) yw perfformiadau'r ymgeiswyr am yr eitem honno. Mae cynnydd yn y gwyriad safonol yn tueddu i fod yn arwydd o amrywiaeth gynyddol o blith ymgeiswyr, neu o bapur sy'n gwahaniaethu fwy, gan fod y marciau'n fwy gwasgaredig o gwmpas y canol. Mewn gwrthgyferbyniad, byddai gostyngiad yn y gwyriad safonol yn awgrymu bod mwy o unffurfiaeth ymhlith yr ymgeiswyr, neu bod llai o wahaniaethu ar y papur, gan fod marciau'r ymgeiswyr wedi'u clystyru fwy o gwmpas y canol.

Sticky Note
Uchafswm y marciau ar gyfer cwestiwn arbennig.

Sticky Note
Mae ffactor hygyrchedd eitem yn mynegi'r marc cymedrig fel canran o'r uchafswm marciau (Uchaf. Marciau) ac yn fesur o hygyrchedd yr eitem. Os yw'r marc cymedrig a enillir gan yr ymgeiswyr yn agos at yr uchafswm marciau, bydd y ffactor hygyrchedd yn agos at 100 y cant a'r eitem yn cael ei hystyried yn hygyrch iawn. Fodd bynnag, os yw'r marc cymedrig yn isel o'i gymharu ag uchafswm y sgôr, bydd y ffactor hygyrchedd yn fychan a'r eitem yn cael ei hystyried yn llai hygyrch i'r ymgeiswyr.


Sticky Note
Mae'r tabl, i bob eitem, yn dangos nifer (N) a chanran yr ymgeiswyr wnaeth roi cynnig ar y cwestiwn. Wrth gymharu eitemau ar y mesur hwn mae'n bwysig ystyried trefn ymddangos yr eitemau ar y papur. Os oes cyfanswm amser cyfyngedig i'r papur, mae'n bosibl na fydd gan rai ymgeiswyr ddigon o amser i gwblhau'r papur. Gall hyn olygu, yn ôl y mesur hwn, fod gan yr eitemau hynny sydd ar ddiwedd y papur ffigur datchwyddedig. Os nad ystyrir bod yr amser a ddyrannwyd am y papur yn ffactor arwyddocaol, gall canran isel olygu bod problemau hygyrchedd. Pan fydd ymgeiswyr yn cael dewis cwestiwn mae'r ystadegau'n dangos blaenoriaethau'r ymgeiswyr, ond dylanwad y polisi addysgu yn y ganolfan hefyd.
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G2 – AMGYLCHEDDAU DYNOL NEWIDIOL

Atebwch bob cwestiwn.

Dylech ddefnyddio cymaint o enghreifftiau ag sy’n bosibl i ategu eich atebion.

Ffigur 1:  Canran y menywod o oedran 15–49 sydd ag HIV

ⓗ WJEC CBAC Cyf.
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1.	 	  
	 [5]

	 (b)	 Amlinellwch rai canlyniadau (consequences) cyfraddau marwolaethau uchel.	 [10]

	 	

ⓗ WJEC CBAC Cyf.







Sticky Note
Rhywfaint o berthnasedd yma.

Sticky Note
Ddim wir yn berthnasol.



Sticky Note
Ateb arwynebol iawn. Dealltwriaeth ymylol. Ateb Lefel 1.





Sticky Note
Mae'r ateb yn dangos dealltwriaeth - ond nid yw'r pwyntiau yn cael eu datblygu yn effeithiol. Ateb Lefel 2.

Sticky Note
Gwelir effaith yma.

Sticky Note
Adnabod gwlad yn syth a chyfradd marw uchel.







Sticky Note
Mae mwy nag un effaith wedi ei nodi yn barod - a chaiff un ei datblygu. 

Sticky Note
Enghraifft berthnasol gyda data dilys yn cyfoethogi'r ateb.



Sticky Note
Mae'n dal i ddatblygu'r un enghraifft gydag ystod o effeithiau ar y wlad. Ateb Lefel 3.
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ⓗ WJEC CBAC Cyf.

Ffigur 2: Canran y newid blynyddol mewn gofod adwerthu a ddefnyddir yn y DU, 2001-2011
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2.	 	  

	 (b)	 Amlinellwch effeithiau’r newidiadau ar y cyrion gwledig-trefol.	 [10]

	 	  

ⓗ WJEC CBAC Cyf.





Sticky Note
Ar y cyfan ateb arwynebol heb ddatblygu effeithiau yn fanwl na gwneud defnydd o achosion astudiaeth. Ateb Lefel 1.

Sticky Note
Gwelir yma effaith ond nid oes enghraifft i'w chefnogi. 

Sticky Note
Nid yw'r pwynt cyntaf yn gryf - mae ffermwyr yn gallu gwneud llawer o arian o werthu eu tir!









Sticky Note
Wedi dechrau addawol lle nodir effaith yn syth mae'r ateb wedi troi'n ddisgrifiadol, felly ateb Lefel 2 yw hwn.

Sticky Note
Er bod angen enghreifftiau yma, mae'r ateb nawr braidd yn ddisgrifiadol.

Sticky Note
Gwelir effaith wedi ei nodi yn syth.







Sticky Note
Mwy o effeithiau wedi eu lleoli.

Sticky Note
Effaith ag esiampl yn syth.



Sticky Note
Ateb da sydd wedi ymateb i her y cwestiwn sef 'effeithiau'. Gwelir hefyd ddefnydd helaeth o enghreifftiau. Ateb Lefel 3.
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ⓗ WJEC CBAC Cyf.

Ffigurau 3a a 3b:  Yn dangos defnydd tir mewn rhan o ddinas yn Lloegr
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3.	 	  
	

	 	  

	 (c)	 Amlinellwch gasgliadau eich ymchwiliad i amgylchedd dynol newidiol.

		  Dylech nodi’n eglur y cwestiwn rydych chi wedi ymchwilio iddo.	 [10]

DIWEDD Y PAPUR

ⓗ WJEC CBAC Cyf.





Sticky Note
Ateb byr iawn. Diffyg ffocws ar gasgliadau. Ateb Lefel 1.







Sticky Note
Casgliadau wedi eu cefnogi gan ystadegau.

Sticky Note
Strwythyr da - gosod teitl a rhagdybiaeth isod.



Sticky Note
Gwelir yma gasgliadau i'w ymholiad ond mae tueddiad i werthuso yn hytrach na datblygu casgliadau felly ateb Lefel 2 yw hwn.









Sticky Note
Mae'r ateb yn canolbwyntio ar y casgliadau, yn datblygu elfen o drafodaeth ac yn ei chefnogi gydag ystadegau felly mae'n ddigon da am Lefel 3.

Sticky Note
Mae'r paragraff yma yn dangos datblygiad o'r casgliadau drwy drafodaeth fyr.

Sticky Note
Mae'r prif gasgliad yn cael ei gefnogi gan ddata.
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GCE GEOGRAPHY G2 


CHANGING HUMAN ENVIRONMENTS 


Q.1 (b) Outline some consequences of high mortality rates. [10] 


Consequences of high mortality rates include: 


 The immediate effect of many deaths on society and economy.


 Action to reduce the high number of deaths.


 Action to redress the balance of the population structure by increasing the
younger population.


 Accept consequences of specific mortality rates.


 Any other valid approach.


Some suggested responses are given below. 


(i) Consequences of a high death rate could be where high mortality rates are 


prevalent: Countries in stages 2 and 3 of the demographic transition, such as 


Sierra Leone [16/1000] and Central African Republic [16/1000].  


 Maintaining a high birth rate to compensate for a relatively high
death rate thus maintaining a population in danger of severe
resource shortages.


 Action by governments, NGOs and international aid agencies to
help reduce death rates by investing in health structures to help
reduce infant mortality; economic structures, such as employment
opportunities, leading to greater personal wealth/security and
hence well-being; social structures such as pension schemes so
better health care could be afforded in later life; environmental
structures such as improving sanitation would reduce deaths and
education structures such as health and safety information
including issues associated with road traffic.
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(ii) Consequences to countries suffering the ravages of HIV/AIDS, such as 
Lesotho [16], Swaziland [15] could be:  


 


 Social trauma, as family members die young. 


 AIDS can be sex selective increasing the sex ratio differences. If 
too many men die the community loses an important social and 
economic stratum of society. Swaziland, for example, is attempting 
to deal with the issue of HIV/AIDS by maintaining an HIV 
surveillance programme, promoting condoms by free distribution, 
screening all donated blood, improving health care for those living 
with HIV particularly to aid prevention of mother to child 
transmission and improving women’s access to prevention 
services. 
 


(iii) Consequences to countries at war: Afghanistan [16] could be:  
 


 The misery and dislocation that war occasions. 


 Refugee creation (Syria to Jordan). 


 International pressure to either increase troop numbers, or reduce 
them. 
 


(iv) Consequences to Eastern European countries which have relatively high 
death rates such as Ukraine [15], Russia [14] and Bulgaria [15] could be: 


 


 Government action to reduce the death rate by improving the 
health and well-being of society; by improving economic 
opportunities for employment and increasing pay; by addressing 
environmental issues such as industrial disease, pollution and 
injuries, which are major factors causing deaths; by addressing 
social issues of drug taking, smoking and alcohol consumption; by 
encouraging births with incentives such as “create a baby day” to 
redress the balance of high death rates. 


 
(v) Mortality rates in stage 5 of the demographic transition may be worthy of a 


‘high’ classification as this is when mortality rates begin to increase: such as 
Germany [10], Italy [10] and Japan [10]. In stages 4/5, health care is much 
better, leading to longer life expectancies, but consequently, ironically, higher 
death rates. Consequences could be: 


 


 Stage 5 countries will continue to prolong the lives of their citizens 
with medical advancement, but at the same time may encourage 
the demographics of the country to change by allowing younger 
workers into the country. Also, by various policies, (child benefit, 
paternity leave, child tax credit), to encourage procreation, thus 
reducing the impact of an ever ageing population. In so doing the 
nation’s overall death rate will reduce.  


 Providing more care for the elderly. 


 Providing education advice on healthy lifestyle choices regarding 
smoking, drinking, safe sex, eating, exercise and driving 
standards. 


 Engaging in the debate about the right to die and euthanasia with 
more urgency. 
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(All figures derived from www.prb.org data sheet 2012). 
 


Level 3 
8–10 marks 


Good knowledge and understanding of at least two 
consequences of high mortality rates. 
Good development of example(s). 


Level 2 
4–7 marks 


Some knowledge and understanding of consequences of high 
mortality rates.  Allow one consequence in detail. 
Example(s) are evident and enhance the outline. 


Level 1 
0–3 marks 


Basic knowledge and understanding of consequences of high 
mortality rates.  Brief consequence(s). Little use of example(s). 
Maximum level for causes of high mortality rates; some 
knowledge of mortality. 


 


 (c) Contrast the characteristics of two types of migration. [10] 
 


Note - WJEC’s list of command words defines contrast as requiring only 
differences. Do not credit similarities. 
 


Characteristics of migration may include some of the following: 


 age selective  


 sex selective  


 race selective 


 religion selective 


 wealth selective 


 involve few people or millions 


 occur over a variety of distances (including “circulation” e.g. commuting) 


 can be permanent or temporary 


 can be national or international.  
 


Any two types of migration at any scale can qualify as a correct answer with 
differences between them emphasised thus qualifying for higher credit.  
Some suggestions of types of migrations which could be used follow, but 
these suggestions do not preclude other valid examples. 
 


 Voluntary (counter-urbanisation) and forced (refugees from Syria to 
Jordan). 


 Permanent (retirement migration from the UK to Spain) and temporary 
(student accommodation and overseas employment, perhaps in the 
diplomatic service). 


 Reasons for migrations provide contrasts: economic (Bulgarians to the 
UK); social (holidays); environmental (fleeing from a tectonic event such 
as the Soufriere volcano in Montserrat); political (civil wars occasioning 
many people movements such as the Arab Spring countries); 
demographic overpopulation leading to resources depletion (many 
examples in Africa). 


 


Level 3 
8–10 marks 


Good knowledge and understanding of two types of 
migrations with contrasts between them emphasised. 
Good development of examples. 


Level 2 
4–7 marks 


Some knowledge and understanding of two types of 
migrations.  The migrations could be well described, but 
contrasts are undeveloped. 
Examples are evident and enhance the contrast. 


Level 1 
0–3 marks 


Basic knowledge and understanding of two types of 
migrations.  Little use of examples. 
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Q.2 (a) Use Figure 2 to describe changes in retail space in use in the UK. [5] 
 


Award 1 mark for a statement and 1 mark for illustrative confirmation from the 
graph, up to a maximum of 5 marks. 
 
Some suggested responses are given below: 
 
Changes over time 
 


 Out of town retailing growth declined fairly steadily, with a blip in 2006, 
from 6% growth in 2001 until no growth in 2009. Thus there was 
continuous, but declining growth until 2009. After 2009 it had a 
resurgence to 1% growth in 2010, but never demonstrated negative 
growth during the eleven years. 


 Town centre retailing has been dominated by negative growth (decline) 
throughout the eleven years with the exception of a 0.5% increase in 2003 
and a 1% increase in 2007. 


 
Changes between the two graphs 
 


 Throughout 2001 to 2011, out of town growth has in every year been 
higher. 


 In 2011 town centre retailing staged a recovery, still a decline, but only of 
2.5%, up from a decline of 4.5% the previous year whereas out of town 
retailing demonstrated a constant positive growth of 1% during the last 
two years of the graph. 


 
Award a maximum of 3 marks for a direct lift from the graph. 


 
 (b) Outline the impacts of changes in the rural-urban fringe.  [10] 


 
A variety of approaches may be expected, all of which are valid.  


 Answers that entirely focus on the impact of changes within the fringe. 


 Answers that focus entirely on how fringe changes have had an impact 
elsewhere away from the fringe, in the CBD for example. 


 Answers which combine the above two approaches in various proportions. 
 
The question asks for impacts and a review of changes themselves would 
not be sufficient for Level 3. 


 
Some suggested changes and impacts in the rural-urban fringe. 


 Settlement change in physical size, shape and appearance impact on the 
environment as physical ecosystems change to human ones.  


 Demographic change in numbers and the nature of people living in fringe 
settlements may impact by inducing tension between different groups; 
locals and newcomers, young and old. 


 New suburban accretions eating into the fringe impact on the scenic 
quality and perceived attractiveness of a rural landscape. 


 Out of town developments in retailing, office parks, leisure and recreation 
(leisure centres, golf courses, cinemas) impact by creating a busier 
environment with more journeys on narrow rural roads with safety issues 
and associated traffic congestion and vehicle pollution.  
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 Improvement in communications: new motorway junctions and ring roads 
improve accessibility but degrade the existing agricultural and/or forest 
environment. 


 Decline in agricultural land use impacts by creating derelict and 
abandoned farms which some perceive as unsightly whilst other celebrate 
the newly colonising biodiversity which follows.  


 Diversification in farmland activity: paintballing and quad biking impact by 
occasioning more noise and disturbance in the fringe area. 


 
Some suggested changes in the rural-urban fringe having an impact on 
CBDs. 


 Economic decline. As CBDs lost many retail, entertainment, shopping and 
office businesses to out of town developments a “dead heart” was 
recognised: empty shops, some dereliction, unkempt and untidy and a 
preponderance of charity shops.  


 Redevelopment and/or reinvigoration of CBDs to stem or reverse the 
decline. Large, complete redevelopments of city centre retailing sites such 
as Birmingham’s newer Bullring, Bristol’s Cabot Centre and Cardiff’s St. 
David’s 2.  


 Environmental improvements have been great with large expansions of 
traffic free areas, street repaving, fancy lighting, flowers, fountains, 
hanging baskets etc. Street entertainment is being provided to draw in 
custom. Park and ride schemes have been introduced and late night 
shopping. 


 Apartments are often included in CBD redevelopment schemes which 
draw back residents to city centres and hence more and convenient 
custom for retailers. 


 


Level 3 
8–10 marks 


Good knowledge and understanding of the impacts of 
changes in the rural-urban fringe within the fringe or 
elsewhere.  Good development of example(s). 


Level 2 
4–7 marks 


Some knowledge and understanding of the impacts of 
changes in the rural-urban fringe within the fringe or 
elsewhere.  Example(s) are evident and enhance the 
explanation. 


Level 1 
0–3 marks 


Basic knowledge and understanding of the impacts of 
changes in the rural-urban fringe, within the fringe or 
elsewhere.  Little use of example(s). 
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(c) Outline the conclusions of your investigation into a changing human 
environment. [10] 


 
You should state clearly the question that you have investigated. 


 
Marking will depend on the quality of response and must be adjusted to suit 
individual studies presented. 


 
An outline of what the investigation set out to achieve would be expected with 
a review of whether or not the initial hypothesis, question and/or issue had 
been realised. 
 
Some candidates may incorporate an evaluation as part of their conclusion, 
as this is listed as part of stage 5 (conclusion and evaluation) in WJEC’s 
document ‘the Enquiry Approach which can be applied to G1, G2 and G3B’ 
which can be found on the GCE Geography web page.  
 


Level 3 
8–10 marks 


Good knowledge and understanding of the conclusions. 
Very good development using the context of the 
investigation. 


Level 2 
4–7 marks 


Some knowledge and detailed understanding of the 
conclusions using the context of the investigation. 


Level 1 
0–3 marks 


Basic knowledge and understanding of the conclusions. 
Basic development using generic and generalised 
responses. 
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